Wed. Oct 14, 2015 MATH 340, Quiz 5 Prof. V. Panferov
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Each problem is worth 2 points. Show all your work.

1. If the cumulative distribution function of X is given by
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calculate the probability mass function of X. [Graph a bar diagram for the PMF.]
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2. Suppose P(X = 0) =1 — P(X =1). If E[X] = 3Var(X), find P(X = 0).
P(x=0)=p , #tan P(X=/)=1p.
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. Tt is known that diskettes produced by a certain company will be defective with probability
0.01, independently of one another. The company sells the diskettes in packages of 10 and offers
a money-back guarantee that at most 1 of the 10 diskettes in the package will be defective.
If someone buys 3 packages, what is the probability that exactly one of the packages will be
returned under the money-back guarantee? '
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